Answers:

Ex.1 Cross out the expressions which cannot be used with the nouns (He TecT)
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We have several/a great number of/many/aelarge-amountof/asmatl-quantity-of

people to our wedding.

We need plenty of/several/a little/ acouple-ef/ a small amount of sugar to make this
cake.

There was hardly any/plenty of/several/afewtacouple-of food in the fridge.

A large number of /¥erylittle/Some/Beth/A good deal of students attend last night’s
meeting.

He always adds a large amount of/agreat-nwmber-ef/lots of /a-couple-of/too much
salt to his food.

They earn few/several/a great deal of/hardly any/little money.

We have atittle/ many/ plenty of /some /aHarge-quantity-of chairs. We can all sit
down.

few of

a few of
a little
little

a few of
a little

a few of
the few
few
little
the little

something
anything
somewhere
something
anyone/anybody
anything
anywhere
somewhere
anything

.anywhere

. someone/somebody

. something
.aanything/something

discussion/debate
work/employment
questions/problems



4. baggage/luggage
5. resources/facilities/computers
6. details/facts

Ex.5

The whole course
Whole families

All of the schools

The whole plan

The whole performance
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Ex.6

Not all the children came.
Many, if not all (of) the students
+

Neither of us spoke again
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Ex.7

1. every
2. Each/Every
3. each
4. every
5. each
6. every
7. each/every
8. every
9. every
10. each/every

Ex.8

None of the witness
none of the children
none

no solution

no alternative

None

none of the arguments
none

9. No author

10.none of the books
11.none

12.No expense
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